
MATH 2410 – Differential Equations April 4, 2017

Assignment 4

1. Find a particular solution of the following second order equation

y′′ + 3y′ + 2y = 2 cosx− sinx.

2. Find a particular solution of the following second order equation

y′′ − y′ + 2y = ex sinx.

3. Find the general solution of the following second order equation

y′′ + 6y′ + 8y = cosx.

4. Find the general solution of the following second order equation

y′′ + 4y′ + 20y = −3 sin (2t).

5. Find the solution of the given initial-value problem

y′′ + 4y′ + 20y = −3 sin (2t), y(0) = y′(0) = 0.

6. Find a particular solution of the equation

y′′ + 3y′ + y = − cos (3t),

a) by using the guess

yp = a cos (3t) + b sin (3t),

where a and b are undertermined coefficients

b) by using the guess
yp = A cos (3t+ θ),

where aA and θ are undertermined coefficients.


